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Writing the elements in lexicographical order

O+0x 0+1x 0+2.2
1+0z1+1x1+2
240w 2412, 2422

FyCly o= {0,1,2,2, 20,14 2,1 + 22,2 + 2,2 + 22},

£ F_-{f-'J m— F;L

efn) n € Fyly

0§ {0,242 +22)

1 {1,2,2+ 2z}

2 12,22, 1 + x}

U(FyCy) = {1,2,2,22), since 1? = 1, , 2 = 1, 22 = 1 and (22)? = 1. In
nogroup inverses are unigue, so we don't necd to moltiply these anyvimore,
WPy & 05 » € sinee it has no elements of ovder 4, so (P Cy) & O

(l+z){l+x)=l+r+a+r'=2+2 L (1+2)(242) =242+
2r + a* = 0 ¢ 1. Note that these are zero divisors so they are not units,
Also (1+22)(1+22) =1 +2r + 22 + 42 = 24+ x and (1 + 22)(2 + 22) =
2+ +4z+4zxi =0,

L EDIF {1 + 2,24 2,1+ 22,2 + 2r)
Note FyCy) = U(F,Cy) LW ZD(FyCy) L {0}
Conjecture 2.4 In general in any group ring RG, de we have

FyCy) = U(FyCy) W ZD(IFyCy) U {0}

Lomma 2.5 Let T be an ddeal of a ving R, with T & R, Then I contains no
invertible efements,



